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Seat No.: ________                                                     Enrolment No.: __________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – III • EXAMINATION – SUMMER - 2017 

Subject Code: 3330605 Date:  05 -05-2017 

Subject Name: Surveying 

Time: 02:30 PM TO 05:00 PM Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

Q.1 (a) Construct a diagonal scale of 1cm= 2km  and show 22.4km on it. 07 

 (b) Explain   

 (i) Two stations A and B are not intervisible due to rising ground   between 

them. With sketch explain how the line AB can be ranged when both 

stations are visible from some intermediate points. 

 (ii) Advantages and disadvantages of plane table survey in relation to other 

methods. 

07 

Q.2 (a) A 20mt chain was found to be 0.05mt too long after chaining 1200mt. 

It was found to be 0.08mt too long after chaining 2800mt. The chain 

was correct before starting the work. What is the true distance of the 

line measured? 

07 

 (b) Define orientation of plane table and explain its methods. 07 

  OR  

 (b) Name the different methods of Plane Table Surveying and Describe any one in 

detail with sketch. 

07 

Q.3 (a) Explain Adjustment of Closing error in closed traverse. 07 

 (b) Convert following  

(a) whole circle bearing into Reduced Bearing 

(i) 25 º 30’ (ii) 179 º 40’ (iii) 265 º 30’ (iv) 320 º 10’ 

(b) Reduced Bearing into whole circle bearing 

(i) N 25 º 30’ E (ii) N 25 º 30’ W (iii)  S 25 º 30’  E 

07 

  OR  

Q.3 (a) Write Short note on  

(i) Whole Circle Bearing,  (ii) Reduced Bearing  (iii)  Local Attraction 

07 

 (b) Following bearings were observed while running a closed traverse. Correct the 

bearing for local attraction and calculate included angles. 

 

       Line                   Fore Bearing              Back Bearing 

        AB                          450                            2260 15’ 

        BC                         1300 30’                     3100 

        CD                         1840 30’                        40 30’ 

        DA                         2900                          1090 15’ 

 

07 

Q.4 (a) Explain Temporarily adjustments of level. 07 

 (b) A lamp at the top of a lighthouse is visible just above the Horizon from a 

station at the sea level. The distance of the lamp from the station is 25 km. 

find the height of lighthouse. 

07 

  OR  

Q. 4 (a) Explain Following terms  07 
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(i) Levelling      (ii)  Datum line     (iii)  Bench Mark   (iv)  Backsight   

(v) Foresight    (vi) Change point  (vii) Reduced Level 

 (b) The following consecutive readings were taken with a level at a 

interval of 30 m. The R.L. of first point is 30.00 m. 

1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520,and 2.960. 

The instrument was shifted after the fourth, Sixth   reading. Rule out a page of 

level book and enter the above readings. Calculate the R .L. of all points. Also 

apply arithmetic checks. 

07 

Q.5 (a) Define contour lines ? Enlist uses of contour  map. Draw contour lines for the 

following. 

1. Ridge  2. Valley   3. Vertical cliff   4. Overhanging cliff. 

07 

 (b) How GPS can be useful in the field of civil engineering. 07 

  OR  

Q.5 (a) Explain following sources of error in leveling 

(i) Instrumental errors  (ii) Personal errors (iii) Natural errors 

07 

 (b) Explain various types of GPS receivers. 07 
 

ગજુરાતી 
પ્રશ્ન. ૧ અ 1cm= 2km નો વિકર્ણ સ્કેલ બનાિો અને તેના ઉપર 22.4km દર્ાણિો. ૦૭ 

 બ સમજાિો   
(i) બે સ્ટેર્ન A અને B વ્ચ્ચે આિતી ટેકરી ના કારરે્ પરસ્પર જોઇ ર્કાય 

તેમ નથી, પર્ AB વ્ચ્ચેના કોઈ સ્થળ થી A અને B જોઇ ર્કાય છે. 
રેખા AB નો આરેખર્ કેિી રીતે કરિો તે આક્રુતી સાથે સમજાિો. 

(ii) અન્ય સિેવયિઁગ ની સરખામર્ીમાાઁ પ્લેન ટેબલ સિે ના ફાયદા અને 
ગેરફાયદા. 

૦૭ 

પ્રશ્ન. ૨ અ એક 20મી સાાઁક્ળ થી 1200 મી અઁતર માપ્યા બાદ તે 0.05મી િધારે લાાઁબી 
માલમુ પડી. 2800મી અઁતર માપ્યા બાદ તે 0.08મી િધારે લાાઁબી માલમુ પડી. 
જો કામ ર્રૂ કરતા પહલેા  સાાઁક્ળ ની લાઁબાઇ બરાબર હોય તો માપેલ રેખા નો 
સાચો અઁતર  ર્ોધો ? 

૦૭ 

 બ પ્લેન ટેબલ નો દદક્સ્થાપન એટલે શુાઁ? અને દદક્સ્થાપન કરિાની રીતો 
વિગતિાર સમજાિો. 

૦૭ 

  અથિા  

 બ પ્લેન ટેબલ સિેવયિઁગ કરિાની રીતો ના નામ લખી કોઇપર્ એક વિગતિાર 
આક્રુતી સાથે સમજાિો. 

૦૭ 

પ્રશ્ન. ૩ અ બધ ંમાલારેખર્ માાઁ સમાપન ત્રટુી દુર કરિાની રીત સમજાિો. ૦૭ 

 બ નીચે જર્ાવ્ચયા પ્રમારે્ બેરીઁગ ફેરિો. 
(c) પરુ્ાણવ્રત બેરીઁગ માાઁથી વ્રતપાદ બેરીઁગ 

(i) 25º 30’ (ii) 179º 40’ (iii) 265º 30’ (iv) 320º 10’ 
(d) વ્રતપાદ બેરીઁગ માાઁથી પરુ્ાણવ્રત બેરીઁગ 

(i) N 25º 30’ E (ii) N 25º 30’ W (iii)  S 25º 30’  E 

૦૭ 

  અથિા  
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પ્રશ્ન. ૩ અ ટુાઁક નોઁધ લખો.  
(i) પરુ્ાણવ્રત બેરીઁગ  (ii) વ્રતપાદ બેરીઁગ  (iii)  સ્થાવનક આકર્ણર્ 

૦૭ 

 બ કાઁપાસ માલારેખર્ દરમયાન નીચેની બેરીઁગ લેિામા આિેલ છે. સ્થાવનક 
આકર્ણર્ માટે બેરીઁગમા સધુારો કરી અદાઁરના ખરુ્ાઓની ગર્તરી કરો.  
       Line                   Fore Bearing              Back Bearing 
        AB                      450  0’                     2260 15’ 
        BC                     1300 30’                    3100  0’ 
        CD                    1840 30’                     40 30’ 
        DA                    2900  0’                    1090 15’ 

૦૭ 

પ્રશ્ન. ૪ અ લેિલ ન ુહાઁગામી(અસ્થાયી) સમાયોજન સમજાિો. ૦૭ 

 બ એક લાઇટહાઉસ ના ટોચ ઉપર નો બલ્બ દદરયાની સપાટી ઉપર એક સ્થાન 
પરથી ક્ષિવતજમાાઁ દેખાય છે.  બલ્બન ુઅઁતર દદરયાના સ્ટેર્ન થી 25 km હોય તો 
લાઇટહાઉસની ઉચાઇ ર્ોધો.  

૦૭ 

  અથિા  

પ્રશ્ન. ૪ અ નીચે જ્ર્ાિેલ પદો સમજાિો.  
(ii) તલેિર્     (ii)  ડેટમ રેખા (iii)  તલક્ષચહન (iv)  પ્વાિલોકન 
(v) અગ્રાલોકન   (vi) દદર્ા બદલ ક્ષબિંદુ  (vii) સાપેિ ઉઁચાઇ 

૦૭ 

 બ ડાઁપી લેિલની મદદથી મેદાનમા ૩૦ મી. ના અઁતરે તલેિર્ દંડ િડે નીચ ે
પ્રમાર્ ેઅિલોકનો લેિામા ંઆવ્ચયા:  
1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520, and 2.960. 
લેિલને ચોથા, છ્્ઠઠા રીડીઁગ પછી ખસેડિામા આિેલ હ્તો. પહલેા ક્ષબિઁદુનો R.L. 
30.00મી હત.ુ લેિલ બકુન ુપાન ુદોરી બધા જ ક્ષબિઁદુઓ ના R.L. ર્ોધો. જરૂરી 
તાળો મેળિો..  

૦૭ 

પ્રશ્ન. ૫ અ સમો્ચ રેખાની વ્ચયાખ્યા આપી તેના નક્ર્ા ના ઉપયોગો જર્ાિો.નીચે આપેલ 
સ્સ્થતી માટે સમો્ચ રેખા દોરો. 
1. ધાર  2. ખીર્   3. ઉર્ધિણ વર્લા.  4. લટકતી વર્લા. 

૦૭ 

 બ સીિીલ એંન્ીનીય્રીઁગ વિધાર્ાખામાાઁ GPS કેિી રીતે ઉપ્યોગી બની ર્કે છે, 
સમજાિો? 

૦૭ 

  અથિા  

પ્રશ્ન. ૫ અ તલેિર્માાઁ થતી ત્રટુીઓના નીચે જ્ર્ાિેલ સ્ત્રોતો સમજાિો. 
(ii) સાધનની ત્રટુીઓ (ii) પસણનલ ત્રટુીઓ (iii) કુદરતી ત્રટુીઓ 

૦૭ 

 બ જુદા જુદા પ્રકારના GPS રીસીિર જર્ાિી સમજાિો. ૦૭ 

 


